
IMPORTANT: The installation of the idler system requires drilling and tapping in strategic areas of the block.
Care must be taken in this process or damage can occur.
STEP 1: Remove oil pan, timing cover, cam gear and chain.
STEP 2: Clean block surface cam gear area. Carefully install drill template not to bend. Drill bushing out, cut
away towards crank, locate on dowel pins. Secure template to block with the four 1/2 x 20 screws.
STEP 3: Drill two #7 holes in position "A" & "B" on template.. These holes will tap 1/4 x 20.
STEP 4: Drill one letter "F" hole in position "C" of the template. This will tap 5/16 x 18.
STEP 5: Drill one #25 hole in position "D" of the template. This will tap 10/24.
STEP 6: Remove template being careful not to bend.

TAPPING INSTRUCTIONS:
Follow steps 2, 3, 4, 5 with tap fixture installed. In all tapping procedures, use cutting oil and make sure taps cut
straight. After the tap is started, back tap out to break chips. This should be done often.
STEP 7: Tap the two #7 holes on position "A" & "B" on block 1/4 x 20.
STEP 8: Grind or spot face with counter bore and 1/4 pilot. You may adjust depth to even shoe with chain. Tap
the one 5/16 hole in position "C" on lock following tapping instructions. Grind or spot face with counter bore and
5/16 pilot.
STEP 9: Tap #10/24 hole in position "D" on block following tapping instructions. Clearance the block on
movable shoe not to let shoe hit block side.
STEP 10: Thoroughly clean oil and chips out of tapped holes. You are now ready to install your new product.
STEP 11: Reinstall cam gear, with new chain and secure.
STEP 12: Center and install stationary shoe, spaces side down or up to align with chain using spacers or
shims after grinding flat or spot facing on position "A" & "B" using the 1/4 x 2-3/4 bolts. Secure these bolts with
Loctite Blue or Hylomer.
STEP 13: Install moveable shoe by using pivot bolt with 5/16 AN washer or in some cases 2 stainless thin
washers.
STEP 14: Provided in the kit are two #10 x 24 allen set screws pre-assembly only. You will start with the
longest screw. Install in position "D" on block with NO Loctite. Set screw must be flush with block.
STEP 15: You are now ready to install the recoil spring in position "D". Install spring with 90° tab towards "D"
hole in block with recoil spring winding around dowel in position "C", on block with opposing tab of spring on
outside of movable shoe. Grasp opposing tab of spring, winding towards back of movable shoe. You may grind
90° tab shorter to fit into screw.
IMPORTANT: You will now check the recoil part of spring to see if it is located towards block all the way square,
also noting the 90° tab in position "D", not in a bind. If this procedure is complete, remove the spring and the
10/24 allen set screw from position "D". Re-install set screw with Hylomar and then you are ready to reinstall
spring. Use the #6/32 screw and washer to secure spring to dowel.

INSTRUCTIONS 915-99004

CAM CORRECT S/B CHEVY

©Speedway Motors, Inc. Sept., 2008



NOTE: If recoil spring binding from position "D" on block or not seated on dowel, use the next shortest allen
set screw in order and re-check. Don't forget on final assembly to seal this threaded hole - position "D" with
Hylomer. You are now ready to race with cam positive with in a 1/2" timing. After Step 15, you may install a
used chain to locate maximum stretch you desire with your new product by scribing mark on block. To
achieve variable valve timing advancing retaarding cam use .008 longer chain or line bore block.

STEP 16: Re-install timing cover and pan.

IMPORTANT: We recommend the change of the movable shoe and spring with a maziumu of .125 wear on
shoe. Also, you must check your stationary shoe for excessive wear. Replacce as necessary.

Grind or spot
face here

Grind or spot
face here

Grind here
remove hump

Grind or spot
face here

Grind or spot
face here

Grind here
remove hump

Grind or spot
face here

Grind or spot
face here

CAM CORRECT
TEMPLATE EXPLANATION AND PARTS LIST

1 - Drill Template 1 - Spring 1 - 6/32 Screw
1 - Stationary Shoe 2 - 1/4-20 x 3/4 1 - 6/32 Washer
1 - Moveable Shoe 2 - 10-24 Allen sets 2 - 1/4 Spacers
1 - Pivot Bolt 1 - 5/16 AN Washer

INSTALL DRILL TEMPLATE WITH BUSHING OUT

CUTAWAY TO CRANK

DOWEL LOCATION DOWEL LOCATION

A

B

D
C



IMPORTANT
DISCLAIMER In an effort to offer our customers the low prices, quick service and great value, Speedway Motors
reserves the right to change suppliers, specifications, colors, prices, materials. Each of the previous items is subject
to change without notice. Speedway is not responsible for any typographical errors or misinterpretations. Quantities
are limited on some items.

WARRANTY DISCLAIMER The purchaser understands and recognizes that racing parts, specialized street rod
equipment, and all parts and services sold by Speedway Motors, Inc. are exposed to many and varied conditions due
to the manner in which they are installed and used. Speedway Motors, Inc. makes no warranties, either express or
implied, including any warranty of merchantability or fitness for a particular purpose other than those contained in its
current catalog with respect to the goods identified on the face of the invoice. There is no warranty expressed or
implied as to whether the goods sold hereby will protect purchaser or ultimate user of such goods from injury or
death. Speedway Motors assumes no liability after this period.

DAMAGE CLAIMS Always inspect your package upon delivery. Inspect all packages in the presence of the delivery
driver. The driver must note any damage. Ask the driver the Carrier’s procedures for handling damage claims. You
must hold the original box, packing material and damaged merchandise for inspection or the carrier will not honor
the claim. Notify Speedway Motors customer service department for instructions on returning damaged goods.
Speedway is not responsible if no notification is given within 5 days of receipt.

SHORTAGES Always check the contents of your delivery to insure all the parts that you ordered were received. Please
read the invoice. Double check all packing materials, small items may be wrapped inside with these products.
Shortages may occur from damage to the box, so save all packing materials. Inspect the box for holes that would
allow parts to fall out. If you are missing any item(s) be sure to check your invoice for back orders or canceled items
before calling the customer service department. If Speedway has to split a shipment into multiple boxes, packages
may be delivered on different days. You need to contact the customer service department within 5 days of delivery
to assure the prompt replacement. Speedway Motors assumes no liability after this period.

REFUSALS All refused COD customers will be billed a 15% restocking charge plus freight to and from the
destination! If you have questions please contact Speedway’s customer service department.

WARRANTY CLAIMS If an item has a manufacturer’s warranty as being free from defects we will exchange only. If
the item has been used and you are requesting warranty work, this may take up to 30 days as warranty work is done
by the manufacturer NOT Speedway Motors. If you have any questions please contact customer service.

RETURNS Speedway wants you to be satisfied with your purchase. If within 30 days after you receive your shipment
you are not satisfied, you may return the item for refund or exchange. All exchanged or returned merchandise must
be in original factory condition with no modifications or alterations. Returned merchandise must include all packaging
materials, warranty cards, manuals, and accessories. If the items being returned need to be repackaged there will be
a re-packing charge. Re-pack the item in a sturdy box and include a copy of your invoice and complete the form on
the back of the invoice. You must ship orders back PRE-PAID. WE DO NOT ACCEPT COD SHIPMENTS. All exchanges
need to have reshipping charges included. Items that are returned after 30 days are subject to 15% restocking
charges. All fiberglass returned will have 15% restocking charge. No returns on electrical parts, video tapes, and
books. Absolutely no returns on special order or close out merchandise.

FREE CATALOGS Speedway Motors offers FREE catalogs for Race, Street, Sprint and Midget, Sport Compact and
Pedal Car restoration.

**Some items are not legal for sale or use in California on pollution controlled motor vehicles. These items are
legal in California for racing vehicles only which may never be used upon a highway.

Speedway Motors Inc., P.O. Box 81906
Lincoln, NE 68501 (402) 323-3200

www.speedwaymotors.com
©Speedway Motors, Inc. 2006


